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Revised Answers (Master Set) Date: 13-04-2025

freferfiaa ® & -1 TSI e W 96 USE 3e18 (U ohi Herd 37wsT 9uf ohiar @ ?
ATHR Wed U Hehet WD IeUTg Ul Yoag ™

“Which of the following best describes Net National Product (NNP) at market price ?

Gross National Product at market_pnce minus depreciation

Frafafas & 9 S-r v § ST = g A faRwarag@i 2 2
AT Sharel oeh § WeAT 31 Hehal &

Which of the following is nof a feature of the Post Office Savmgs Account in India ?
Account can be opened with cheque only

EEREICEIEE] %%mﬁm%ﬁﬁ%ﬂaﬁasﬁaﬁﬁhwﬁﬁ%ﬂﬁw%ﬁmwmw
ITEETE ?

T it wver ufwrater weiem feramT

Which department is responsible for managing the Central Gov_eru'meht’s investments in equity, including
disinvestment of equity in Central Public Sector Undertakings ?

Department of Investment and Public Asset Management

foreft 21 T 1w wqe 7w i ferfa o frefattad staw e ke
Fhrarter <Y e et oft Harmet T aifireR srraTa gt

A country experiencing a deficit in its Balancc_of Trade must have :
Higher imports of goods and services than exports
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g frrfertiaa gt A (Forefer ser) 67 geft B (SIS T b)) € firerr <hifsra

el A (feitg 579) Gll B (@ISR I JHR)
a. e s i SR s S
b. A YoX i, TSR
c. et i, giEafET s R =) T
d. e feifeiwid v, @
oo :

a-iv,b-ii, c-iii,d-i

Match the following List A (Financial Instrument) with List B (Market Type) :
List A (Financial Instrument) List B (Market Type)

a. Retained Earnings i. International Capital Market
b. Commercial Paper . ii. Money Market
c. Factoring " iii. No charge over assets

d. Indian Depository Receipts . iv. Self—ﬁnancing
Options : ; |

a-iv, b-ii, Ceiii;d—i

6. s & AT (Cersiiew) o arer wg/afiy/eET <6 R 3 S o s o o, R arifas
SeFt < sufRe it ATHT SR 5 ST HT T ST ST AT ?

Tngﬁlaamuqm

The Lead Bank Scheme (LBS) was introduced based on the recommendation on which study

group/committee/commission that highlighted the inadequate presence and rural orientation of commercial
banks ? '

; Gadgil Study Group
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TR fird ek (sareefterd) & ot o frefafiea et ot femm hifs

1. orrefars stfirfie S o 22 % TR SMEianE % g Ra H A SR F A
HHTE |

2. 1949 B USRI 3 WG, SATTE 1 W@iked q0f &7 § R HEHR I © |
3. ugdHaTSHue o Terfice arelt T ZehTe o e ot S § |

I Ol § W - E 2

Aot 1 2 2

Consider the following statements about the Reserve Bank of India (RBI) :

1. In terms of Section 22 of the RBI Act the RBI has the sole authority"to_ issue bank notes in
India. e, 9 | |

2. Since nationalisation in 1949, the RBI is fully owned by Governrhe_nt of I.n.dia. |

3. Coins are minted in seven mints owned by SPMICL./ ;
Which of the statements given above are correct 7

1 and 2 only

forfiar Rerar aﬂtﬁmw&wm@ﬁg%wﬁﬁw&mﬁﬁﬁ?—mmw%

mﬁﬁm%wﬁmmﬁmm ferer vl wmifireT ¥ |

Which of the following statements about the Fmancml Stab111ty and Development Council (FSDC) is
correct ?

The Council includes the C]nef Econormc Advlser, Minister of Finance as a member.

freafafiag o @ =la- mtﬁ%m@v%“msﬁamﬁmw @aﬁ@)wmﬂiﬁmm%?
forerert & T ofi =i st sgTen 3

Which of the followmg is the primary obj ective of NITT Aayog’s “Atal Innovation Mssmn” (AIM) ?
To foster innoyation and entrepreneurship in schools

10.

W@aﬁﬁﬁmﬁam@ﬁw@qmﬂ)wmﬁ?ﬁ%?
ﬂwaﬁtéﬁﬁnﬁm%awmw

thch of the fnllowmg is not a responsibility of the Central Statistical Organisation (CSO) ?
Collection of data on employment and unemployment

11

- wefturret & oY s o fery Rt envgde s eavae g

TR TR H ST T (W) Sreaaa, 2020 % ded, Wit 3 sui B et w0 3 fae Pt 3
CERIKIURE IR

Under the Uttar Pradesh Krishi Utpadan Mandi (Amendment) Ordinance, 2020, which of the following was
introduced to encourage the usage of mandis ?

Trading beyond APMC requires specific licences
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12.

et A (2T TSI ) 1 GE B (e e s fresg
el A (77) gl B (fariaa)

a. SHTYHIUOA i SATEITS g Smefeasss T H SR R T

b. el A i, STIETIEE HheH -

c. dMufsER T i 7 AT S 1 o o sl uftusreraredt o fore S for
i R v SRR

frered :

a-i, b-ii, ciii, d-iv

Match List A (Money Market Instruments) with List B (Key Features) :

List A (Instrument) List B (Feature) _ N
a. Certificate of Deposit i.  Issued by RBI in dematerialised form
b. Call Money ii. Funds transacted overnight .
c. Commercial Paper iii. Issued for maturitics between 7 days to 1 year
d. Treasury Bills iv. Zero 0 CoUpQ secunt1es '
Options :

a-i, b-ii, c-iii, d-iv

13.

mmmﬁmwm 1964%wﬁﬁmﬁﬁ‘@a AT B IR waiter it @ gRfea
Hifse :

(s1g) O
a. 26t i @ R (),
b. 19 i wCafR R (e i )
c. 26 it e R Rl (e Saeie ke
d 198 iv. WWW@EWW
frwea: '

aiv,b ii, ¢ - i, d - iii

_Match the following sections with their respective funds with respect to the Uttar Pradesh Krishi Utpadan
Mandi Adhiniyam, 1964 :

~ (Section)  (Fund)

a. 26-PPP i.  Board’s Fund

b. 19 ii.  Market Committee Fund

c. 26-P iii.  Market Development Fund

d. 19-B iv.  Central Mandi Fund
Options :

a-iv,b-ii, ¢ - i, d - ii
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14.

IR ST S Sere Hel siftifem, 1964 i 6w 7% e, forw feerfer o T wren fepd disger sy@ HEt i
I HHTH o Hhell © 7

T s o STayash g1 AW A HET AU

According to Section 7 of the Uttar Pradesh Krishi Utpadan Mandi Adhiniyam, 1964, under what condmon
can the State Government abolish an existing principal market yard ?
If deemed necessary or expedient in the public interest

15.

16.

IR TR 0 Serreet Aot (Fefer s fees, 2020 ht amr 7-0 W weeR o U, HUET Yo o Aftehan
e e 2, Gﬁﬂ@ﬂﬂﬁéﬁﬁﬁﬁ/@ﬁﬁﬂmﬁmﬂﬁw%wﬁwmm%?
Iuier W & RIS AR

According to the amendment in Section 7-A of the Uttar Pradesh Kl’lshl Utpadan Mandl (Dwitiya
Sanshodhan) Vidheyak, 2020, what is the maximum percentage of market fee that the owner/licensee of the
market sub-yard can collect as user charge ? . R '

None of the above

mﬁﬁﬁmm@ﬁm@%m W%ﬂﬁﬂ%ﬁﬁ%@ﬁﬁﬁﬁmwaﬁmwaﬁ
?

TR THET TUTTedt (disiiee) ST

Under the Paramparagat Krishi Vikas Yojana (PKVY), wh1ch of the follo\mng form of assistance is
provided to registered farmers ? ;

Participatory Guarantee System (PGS) cgrt_nfication

17.

I iR @ fata dad aftee (dfemddiet) < e fo e | fom 2

i ot weEeRa e s Fata e mitrewr (e

Which organization replaced the Prbcess_ed Food Export Promotion Council (PFEPC) in India ?
Agricultural and Processed Food Prodlicts Export'Development Authority (APEDA)

18.

o S S ST ST SR FRRTAT < E ST G o, ot S ot Sucsear gife e,
3 firgh <t sefar W?ﬁﬂﬁ?mﬁﬁﬂﬁ?ﬁﬂﬁﬁﬁ‘ﬂﬁw%?

ST STehfcreh T e

Which centrally sponsored scheme aims to improve farmers’ profitability, ensure the availability of quality
food, and restore soil fertility and farmland ecosystems ?
National Mission on Natural Farming

19.

<fter ¥ et 35 R b Sierte TR 3 4 AT a3 7

SYHTEER SR ATAT 3 3 SITG STHTORAT Sfared HUf o TR ST S a1 € |

Under the principle of subrogation in insurance, which of the following is correct ?

‘The insurer acquires the rights to the damaged property after compensating the insured.
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20. 9Ud I HEe o day § fafefiad sweat w faar fifs

1. e T & o1 3ev fofier i amffes e & Seaw B aTet 1k =1 Siet o6 sifeh & <t & o g
FATR

2. g sept o T e ol et ST B HIS(ET 9% T TG 13% e A ey w2 |

3 Wﬁﬁ@amﬁﬁﬁﬁ#wm%ﬁmﬂmmmaﬂtm
(afiersT) e e 3 |

wﬁwmmf@rﬁqﬁw%‘?

a1 303

Consider the following statements regarding the Basel Il norms :

1. Basel IIT framework aims at improving the banking sector’s ability to absorb shocks arising from
financial and economic stress.

2. It recommends an increase in the minimum capital adequacy rat10 for banks from the existing
9% to 13%.

3. The RBI has implemented the Basel TII capital regulatmns whlch include stricter
liquidity requirements and leverage ratio. 4
Which of the statements given above are correct ?

1 and 3 only _

21, Frefofad fosredt & S ot = a2 fosrer 78 & :
Y, FE Oty -

2. %ﬁﬁﬁmﬁﬁwﬁﬁﬁamaﬁrm%{
35

23, Wmﬁmﬁa"rm%
udi et

24. ﬁwﬁﬁﬁwaﬁgwﬁwwm%
=t _

25, T ST @A qE ferwadl ¥ | g e A e wu R
UIPERER

26." 319 & SR 9L T A @
TGeT Berem &

27, AAHEB IS | AR H G’ Iod H T 8 :
oS
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8. W F IHT WSAT o W ;1 B
fager — e

29.  Afed IeE 1 TAFATH TR E ;
THE — B

30. T T i 1 Feor o (AU IR e €
T

3. (& eET:
arferyTE

32.  fgd Iou o AW AE § ¢
et

33, “OTIEHI’ X168 W HHIH @ :
HE ATey

34, gTHT VoS W HiFa-free d
B+

35, R VoS o A e @ :
EE]

36.

ffeifaq we T S wmaﬁ%mﬂ@ww%w&(v)mmw%uﬁqwﬁw
H 8w ve g |

2A11,4D13,12G17,? . -

48J23

In the following qucstlon a letter-number series is given with one term missing as shown by (?). Choose the
missing term out of the given alternatives.

2A11, 4D13, 12(}1? ?
48J23

37.

e e T e S ol e P i & 3 %mﬂwﬁmw%aﬁ%ﬁﬁqwﬁm
ﬁﬁ@aﬂtwm% ﬁﬂ?ﬂ“ﬁ{m%ﬁwaﬁw%ﬁﬁﬁtwaﬁ?ﬂ% | GaliaH fohed 9|

mﬁamﬁiﬂs@a - GrETeie ;2

TRE

There is a certain relation between two given words on one side of : : and one word is given on the other

side of : ; while another word is to be found from the given alternatives, having the same relation with this
word as the given pair has. Select the best alternative.

Glucose | Carbohydrate : : Soybean : ?
Protein
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38.

frferiad wet o, wreal = = sire feu g ¥, fomid O i siiet # wee wen Y wmrr deiy wad @ | 98 ey
T fore e TRt s @ wiaifer 27|
G!}\HT:(‘;\H

In the following question, four pairs of words are given, out of which the words in three pairs bear a certain
common relationship. Choose the pair in which the words are differently related. '
Shoe : Laces

39.

freferfiaa seprl o1 samgEes stem Ao 3 i fog e wer o e it

we Tifded 2w H, STRING %1 % = *—$= 3 &7 37T PRAISE Fr ?*@ %X %wﬁﬁa@w%lw
aﬁwﬁGMEsmﬁ%@r%@va

+h@?%X% o
Study the following information carefully and answer the question givcn below

In a certain code langnage, STRING is written as % = *—$+ and PRAISE as ‘?*@—%X How will the word
GRAPES be written in that code language ? -

k@7 %%

40.

ﬁmfﬁf@aam%r&ﬁwmﬁw%qaﬂr:ﬂ%ﬁwquwéﬁq

G ASB FIHAR A BHR UMD, ‘A % B’ mrm?%‘A Baﬁ’rm%’?A@B’aafmf% ‘A, BRI uefi &,
ar fReferfiaa o & fepaenr o 2 f36 oM™, Nﬁfﬂé’r% ?

FULL MARK

Read the following information carefully and auswer the quéstion given below :

If ‘A $ B’ means ‘A is the fathet of B’, “A % B’ means ‘A is the mother of B’, ‘A @ B’ means ‘A is the
wife B, then which of the following means ‘M is the grandmother of N° ?

FULL MARK

41.

R DOCUMENTATION 753 3 diet it 76s a1 35 € e i sraer st &, i geft ate < i and,
ga 3ﬂ(€¢% W%Wﬂﬂmﬁwﬁﬁﬁﬁﬁ%ﬁaﬁﬁﬁﬁmmmfi%%ﬁw? SEFCRIT ?

If the positioﬁs of the third and tenth letters of the word DOCUMENTATION are interchanged, and likewise

the positions of the fourth and seventh, the second and sixth letters, are also interchanged, which of the
following will be the cleventh letter from the right end ?

T
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42.

Frefefies wor e & s s s emnfia 2

I U RECH, Teh arafe o1 Ueh &1 ST Ush ol 2 |
1. i ot s sweht o <t g R A AT R
T o2 ol A1 ek ai ot el ¥ |

V. Seftemeafa g oausidia|

V. TS AT S O T Y oS § |

LIETRCIRREEIE

Iuer o | 1S T8l

The following question is based on the information given below :
In a family, a couple has a son and a daughter.

The age of the father is three times that of his daughter

The age of the son is half of that of his mother.
The wife is 9 years younger to her husband

<2 E R

The brother is seven years older than his sister.
What is the age of the mother ?

None of the above

43.

o R e s, SRR (A) SCHRYT (R) w0 sifdhd RRe e spe # |

AT (A) : T b wiReret e by Fordiat 4 W sewl i e |

AT (R) + TR 02 T T8 G 36 1 T ST 3

arfireRer (A) SR HTOT (R) ST Bt § S ohmor (R), SFeRer (A) ot et wsdieraor 2 |

In the question given below, there are two statements labelled as Assertion (A) and Reason (R).
Assertion (A) : The western CGasf of India is characterized by the location of several sea ports.
Reason (R) 4 .Wes:t'em coast has evidence of deep sea water.

Both . Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

44,

1f iR g et & et aTerT o WA & A o e o, A et B R B 0
IERA

=

If the day before yesterday is two days after Monday, then what day is it today ?
Friday
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48.

R few o ueT i o8 oo € 31 3geh w1e I AT o faered & it ues fafdme shr o ueps wrer we e # | 98 foepey
I it arfeen w0 & Gl st et e el a1 0T <hed @, Sverld el e e et a1 sl & e
T e ¥ |

I: Fofrfasaad

n: gfifadasadel

1 : weft ate = sw e o foe fRr s R )
IV: ;Wﬁ??ﬁ%%l

v % il s 3w i feg smar 3 )
VI: % diel 1 ST 1 o fore fopm sram ®)
e

L 1v, 1 _ :
The question given below consists of six statements followed by opti ons con31stmg of three statements put
together in a specific order. Choose the option which mchcates a valid argument containing logically related

statements, that is, where the third statement is a conclusion drawn from the preceding two statements.
Some pins are made of tin.

I

IT: All tin is made of copper.
III: All copper is used for pins.
IV : Some tins are copper.

V: Some pins are used for tin.
VI Some copper is used for tin.
Options :

L, 1v, 1

6. :ﬂ%ﬁqmwﬁ aﬁmﬁrﬁ aff‘uam:f (4) 3R BRUN 1) & ¥ H 3ifcrd

Rl __

aftrema (A) : Yerfifren 3 3emer 3 for wedt forett s |

T (R) : 53 e 8 Qe 5 Predon 3 o Frereft i e g arererpar il |
AU (A) I HWT (R) THT G & SR (R), HTTHAT (A) Tl Tt TSR ¢ |

In ﬁe question given below, there are two statements labelled as Assertion (A) and Reason (R).
Assertion (A) : For the production of aluminium, cheap electricity is essential.

Reason (R) : Extraction of aluminium from its ore requires abundant supply of electricity.

Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).
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% *10* MASTER SET




47,

T e T, 360, 1,2, 3,4, 5,6,7, 8 ATOF 4 b, ¢, d, e, £, g, b, i 3 j ZRT Nrereertie B ST &
3T 10 ba F &I T fr@r T ® |

de x £— (bf — d) x d 56 T & :

bee

In an imaginary language, the digits 0, 1, 2,3, 4, 5, 6, 7, 8 and 9 are substituted by a, b, ¢, d, ¢, f, g, h, iand
j, and 10 is written as ba. _ _

dc x f—(bf—d) x disequal to:

bee

48.

Freaferfia wor o snepfaat & Y A ¥ | e 1, 2, 3 3K 4 TR 2 ST § Sl I A, B, C 3D I
U2 A E | IHRT 1 32 3 ol weh e oo 3 | ST He W Ueh SRIAT STH o1 9 ek ST 3 34
¥ ofFer e T Hejer Ty T St aTrerfer (4) W we forg (7) < wfereenfia st )

HHEIT STt
O
& [V ?
1 2 3 4
:,3
@

The following question consists of two sets of figures. Figures 1, 2, 3 and 4 constitute the Problem Set while
figures A, B, C and D constitute the Answer Set. There is a definite relationship between figures 1 and 2.
Establish a similar relationship between figures 3 and 4 by selecting a suitable figure from the Answer Set
that would replace the question mark (?) in figure (4).

" Problem Figures

| U
&’1”6’8?
. 1L 2 838 4
3
LL

PU6

. Yoo owqpx MASTER SET




49. T=fefiga vt 4, smfa (X) @ oy T = faseedt (A), (B), (C) 31K (D) ¥ & w& dvr-yfafds e, afs
dUr PQ R T@T T R |
P

OTINRGSSIIN

In the following question, choose the correct mirror-image of the ﬁgure'()_{)' from amongst the four
alternatives (A), (B), (C) and (D) given along with it, if the mirror is kept at PQ.

P
o
(X)

ol

O TIHITIINNR
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50. freffiad wor o = feredl # & weh i @ s Al R sl (x) 6 fad v 8 v w e g d
ST |
(X)
In the following question, select a figure from amongst the four altematwes wl:uch when placed in the blank
space of figure (X) would complete the pattern.
(X)
51. WWWW@?W@IMW%@Q?
Ty, 1336 30t
Who was the founder of the VIJ ayanagara Empire and when was it found ?
Harihara, 1336 CE
52, ae & fagst 2022 ﬁﬁm%mmﬁwﬁwq@ﬂvﬁﬁ%aﬁmﬁ%m%amww
R,
$aTE-04
Which satellite was used to capture the volcanic activity of Mauna Loa during its eruption from November
to December 2022 ?
EOS-04 :
53. ety sifere a6 Feferfiad 3 & var sgede R & el G T g seer
Afepre e & e 3 2
e & & RS T
Which of the following Articles of the Indian Constitution specifically deals with the protection of the rights
of minorities, including the establishment of educational institutions ?
None of the above
PUG6
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34.

LT Hrem o fanamT (errunehy < e foma ad o < g oft 2

SESE R

In which year was the India Meteorological Department (IMD) established ?
None of the above

55,

forer STl ST 1 & e Y o el of, Fordt s AR Y st & vedt v B st g
A& AT ST o7 ?

I

Which ancient Indian city was traversed by the ‘Madhya Rekha’, considered as Indla s own prime meridian
before the adoption of the Greenwich Meridian ?

Ujjain

56.

-0 I 1T TS SO ST aeTeroT ST dieet et <h fore vt “cﬁﬁiw %‘ﬁmaﬁ?ﬂﬁ% ?
AT 3 iR

Which Indian states are known for the ‘Dzukou Valley’, famous for ifs natural environment and seasonal
flowers ? : -

Nagaland and Manipur

57.

Torer sirefier Srgfereh ot L T ox 3o 3ol el @tﬁﬁ@rqﬁﬁmﬁ% IUHT SHEERIITT o 3ATTeIsehIL ok
fore ST ST R 2

ST O T

Which Indian scientist is known for his pioneering work on radio waves and the invention of the
crescograph, an instrument to measure plant growth 7

Jagadish Chandra Bose

58.

- fhew Heleha § Feass aﬁﬁfrairgtwu St At et W S e oft 2
Fuder § & i T

Who was the first Tndian actress to win the Best Actrcss award at the Cannes Film Festival ?
None of the abuve !

59.

T e BT ST o T8 3T TR TR AT ohT ST o e o & 7
wﬂ?ﬁuiﬁ%ﬁza%ﬁém‘rwmq I STTY{ERTERTUT ST

What is the primary goal of the Amrit Bharat Statlon Scheme launched by Indian Railways ?
To upgrade and modernize stations across the Indian Railways network

60.

TSI AT e <ol 3 e e 2

- Who is the author of the ancient Indian text “Arthashastra™ ?

Vishnugupta

61.

T ZI VAR TeaT TRt ST iR T SUE ST oT 2
APPLE

Which was the first indigenous experimental communication satellite launched by ISRO ?
APPLE
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62.

AT TSt 3 Sl et & fire i
() REEIED)

a, SE VR i, 3

b, IEOTEA YW il fREUX

c. @y i, ATESA
d. fostee iv. STHUE!
ﬁﬁlﬁq:

a-iv,b-1i,c-ii, d —iii
Match the Indian States with their Capitals :
(State) (Capital)
a. Andhra Pradesh 1. Itanagar
b. Arunachal Pradesh 1. Dispur
C. Assam iii.  Aizwal
d. Mizoram iVv. Amaravati

Options :
a-iv,b-1i,c-ii,d—iii

63.

%ﬂ%ﬂﬁﬁﬂ@@ﬁzaﬁﬁrﬂ-@éﬁwﬁmﬁ@r%ﬁmzom T Ao eA1eiE W Tot JRehi 8 wrTf fepa e
q1 ?
TSTUT HAR

Which Indian athlete was honoured with thc Major Dhyan Chand Khel Ratna Award in 2024 for
achievements in para-athletics ?
Praveen Kumar

64.

T 2 e o R T o iy Freffad § § A e el d
wmﬁ%u&wmwaﬁamﬁ%mmﬁlzmﬁaﬁwﬁmwﬁwwmh

Which of the following statements is correct regarding the observance of National Youth Day in India ?

National Youth Day is celebrated on January 12th to commemorate the birth anniversary of Swami
Vivekananda.

65.

mwﬂ DMA. DDP, DESW 3t DDR&D i nfafafmt & aoaa & forg s Saterii 2 2
wakE

Who is responsible for coordinating the activities of DMA, DDP, DESW and DDR&D in the Ministry of
~ Defence 7
Defence Secretary

66.

OS] Tied i, FH-o e Tl Jeaen & ofie 3o 5 o o fore Tier dit i saEr @ 2
ErCE XD

In the OST model, which layer is directly responsible for routing data between different networks ?
Network Layer

PU6
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67.

s sanfer smrett ¥ syl sanfi wfaei 6 fag smar daw forr | Feafafas & & s e
sfiare- g st 3 freprer b arer vy it e A g 29

ST TR SR ATGgeTie

Early programming languages laid the groundwork for modern programming paradigms. Which of the
following features is most closely associated with the evolution toward object-oriented programtmng ?

Data encapsulation and modularity

68.

e et i o 3 R i e A 3 o e e B S A e A IR
[ERIEICIE

TRAY AT

Which type of memory is most commonly used as the primary storagc mcchum for ﬁrmwarc in modern
computers ?

Flash memory

69.

DDoS &Hel WWW U Uk 3T A15s GUaT @ 8 U ewed! & 1o s 71 s 2 |
aﬁ@ﬁﬁm@m%%mumamaﬁaﬁaﬁmﬁﬁgw

DDoS attacks are a common cybersecurity threat on the WWW. What is the primary mechanism behind
such attacks ? |

Overloading a target server with excessive traffic from mul_tiple sources

70.

Frefrfiad o & i-ar SR forsrma o sharger i i o ged STt 90 T © ?
g FouTET & vEe Seu-w WITTRAT AT S A shie § aiatad T g |
Which of the following best describes the role of a compiler in software development ?

It converts high-level programming langauge into machine code before execution.
. i)

71,

/O foren & fearsw grgat s merfies e r e 2
T foreem 3t STEATT IUTHITT oh S WEaEe o &9 | 1Y AT
What is the primary function of a device driver in /O systems ?

Acting as an intermediary between the Operating System and Hardware Devices
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72, TEIE TIEHT (ST A) i U wiefis e (@iew B) @ fiermsy
SHictH A HicH B
a, fodwes i AT et HIT LS T
b, X TR & e b e D o o) e A e D R
c. S-St i, e ware et o forg eefmfefin vea
d. WETE v, T e Wiy ¥ R e
-1 frehey gt firer qwmiar @ 2
a-i,b-ii,c-iii,d-iv
Match each feature (Column A) with its primary purpose (Column B).
Column A Column B
a. LinkedIn i. Professional networking and career devclapment '
b. Twitter ii. Microblogging for public updates and discussions
c. eSanjeevani iii Telemedicine initiative for remote healthcare sérvices
d. MyGov iv Crowdsourcing platform for citizen engagement in
governance . ! ;
Which option correctly matches the pairs ?
a-1i,b-ii, ¢-iii, d - iv
73. WA o (hieH A)ﬁaqﬂammra%w marrB)@rﬁmsq
hicTH A . ITH B
a. dausd i e fovctwor 3k fore arfreter wmir Sueht
b. ﬁ?ﬁ:éﬁﬁ' f . T W ST o aTa o T B Y WS
c. TS i, Terelt qferser § Seater @iem o
d  VLOOKUP iy, oo GaieT ohl 2e oty 1 gferem
ﬁmmﬁwaﬁﬁaﬁam% ?
a -ii, b -1, ¢ - iv, d - iii
Match each feature (Column A) with its primary purpose (Column B) :
Column-4 Column B
a M-'ail Merge i.  Dynamic summary tool for data analysis
b. Pivot Table ii. Automatically merge data from a database into a document
¢. ~ Track Changes iii. Function to search vertically in a table
d. VLOOKUP iv. Feature to track document revisions
Which option correctly matches the pairs ?
a-ii,b-i,¢-iv,d —iii
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/4, s feforea for vieg (@viem A) <t 30eh g el (@hiaw B) @ firemge
hiciH A hiciH B
a. fefemdite i g, fedizemsss faid e < gfown wam s @
b, sqfehed i, 2 ol B o 3rgeter freare <Rt wenford war @
c. UHETeA jif. ST YA YUiaTd &9 o warferd s o fag ok
R = P T iv. %ﬁwwwaﬂtéﬁqaﬁmﬁm%ﬁmm
-4 Ty wel e quriaT s 2
a-iv,b-i,c-iii, d -ii
Match each digital finance term (Column A) with its primary function (Column B)
Column A Column B
a. Digital Wallet i.  Tacilitates secure, decentralized record-keeping
b.  Blockchain ii.  Automates contract execution when conditions are met
c.  Payment Gateway iii.  Interface for processing online paj/ments securely
d.  Smart Confract iv.  Software for stonng di gltal currency “and facilitating
fransactions
Which option correctly matches the pairs ?
a-iv,b-i,c-iii,d-ii
75.  SATRYT (A) :
e didie Mma&ﬁamﬁmﬁ&ﬁ%ﬁmﬁmﬁéaﬁt@mﬁmwém% |
RIT (R) :
didfieT (VPN), Wﬁﬂfaﬁtmﬁ%aﬁaéaﬁqaﬁ% Bt didieT (VPN), Sarar ot off
wﬂnﬁwﬁ%ﬁ:@rﬁﬂtﬁﬁaﬁw%l i -
foreheu :
aifreRe (A) T 2, ﬁﬁﬂwm)aﬁ%l
Assertion (A) :
A VPN complctely-anonymzcs user data from all external observers.
Reason (R) : '
VPNs encrypt data bctween the user and the VPN server, though the VPN provider may still monitor user
activity, ,
Options :
Assertion (A) is false, but Reason (R) is true.
76. 3TRAT (A) : Tefoea deie H"ﬁiﬁ'&llﬂe’llﬁﬂ QIS & g © |
WHT (R) : ismtdm e Qe el g st o forg ol e & efespa w Fnfe s 2|
feew:
a:ﬁmm(A)ﬂ'é’t% ATRT SHIUT (R) TTeAel & |
Assertion (A) : Digital wallets enable secure online transactions.
Reason (R) : Digital wallets rely solely on encryption to secure transactions.
Options :
Assertion (A) is true, but Reason (R) is false.
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T1.

ferafeer sheafe arareror # a5 Sze i wufed 3 waTtrg w0 % T - 3NeE-an Thadh sage w8
U feRaT ST R 2

UT &G

Which open-source framework is widely used for storing and processing large datasets in a distributed
computing environment ?

Apache Hadoop

78.

STTHRAA (A) ¢
gadeRr Ui ¥ ueie it 3T AfE 3 e & gear srder died €|
hIT (R) :

uﬁwxﬁaﬁ%wﬁmW&mﬁﬁmmmﬁmwﬁmmwﬁﬁm%l
e :

AR (A) TR B, ATRT SR0T (R) T & |
Assertion (A) :

Reinforcement learning involves agents learning optimal behavmms throu gh trial and error.
Reason (R) : ;

Reinforcement learning algorithms rely solely on superwsed labcls provided by an instructor.
Options :

Assertion (A) is true, but Reason (R) is false.

79.

- wwﬁ&wm%w%wWMWt aU'H AT R ?

SUHTTeRaT oh v ht wRaTs fon o e vl SIS T T TS ShEeTT |
Which statement best describes -the core principle of the Zero Trust security model ?
Continuously verifying every access request regardless of user location.

80.

TSR T 1 ST o T el @i by cimy 26l ST <1t wehefl © 7

srerTaTe Yt 3 fereiae oAt ueer shteh, STt HTgat Tl ST Hehd § Hehd &
How can machine learning be léveraged to enhance cybersecurity defenses ?
Bylide-ntifying unusual patterns and anomalies that may indicate cyber threats

81.

feper forerrety arfrfire 3 e semeTeTe Rvafirerer # sfweies w9 @ feft wer e areh deer & w9 i enfia
e TR o 2
23 firerart 1887 <A1 SATAFRT XVIIL

Under which legislative act was the University of Allahabad formally established as a degree-conferring
institution ?

Act XVIII of September 23, 1887

82.

forerferfiaa # S -eft repem o 6 e favivar e ?

o o srgeaar dtdeht whi Wierd SRt

Which of the following is a key feature of the ‘Charkula’ dance ?
Balancing multi-tiered lamps on the head
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83, Ww%m@wmmmsﬁmm%%ﬁtﬁ 3Gt e S e = Tet
i oft 2

afeTer Mg STt

Name the famous Sufi Saint of medieval India, who belongs to Uttar Pradesh and composed ‘Aakhri Kalam®
and ‘Padmavat’ ? g

Malik Mohammad Jayasi

84. WIS H eh WU o s H Fr=fefiad 48 A mea € 2
ot T o | aTet veus ot e qet ht e Sht TerhTel 2 |
Which of the following is incorrect about the Dhamek Stupa in Sarnath ?
The floral carvings on the stone facing the lower part are of Mauryan origin,

85, ﬁtﬁﬂﬁ%ﬂﬂﬁawwwaﬁ%mmww%m 312?% Wﬁm
T TT TS THARTT

Which wildlife sanctuary in Uttar Pradesh is named after a river meaning ‘The Lummescence of Moon’ ?
Chandra Prabha Wildlife Sanctuary

86. 023ﬁwmmmwﬁnﬁg@mﬁmﬁﬂﬁw%wﬁﬁmﬁﬁmﬁﬁaﬁmwm%?
Feret forsti nt FroreTeht e TToer Teeht o o 1ol ok Shg 1 oh &0 H il st oh T et fore et & |

Which of the following statements is true regarding the Mukhya Mantri Udyami Mitra Scheme launched by
the Government of Uttar Pradesh in 2023 ?

Udyami Mitras are appointed to act as a link between investors and the state government.

87. ITLIRMH QA m%ﬁqﬁﬁ%mﬂﬁa@ﬁmﬁhw%v
T ST AT

The ‘Doab’ region in Uttar Pradesh refers to th_e land between which two rivers ?
Ganga and Yamuna |

88, I G T foreld Seured P e (UPRVUNL)WW%HHRJW%W@IW%&TWW ?
a;qﬁaqfirﬁmlgsﬁ%m 25 ST, 1980

When was Uttar Pradesh Rajya Vidyut Utpadan Nigam Limited (UPRVUNL) constituted and under which
Act? '

August 25, 1980 under the Companies Act 1956

89. 2011 sl STFRTVMT o STTHIT 3L YT T SIFH@AT Sl ohet1T o1 ?
829 safve wfer =t feaelt

What was the population density of Uttar Pradesh according to the 2011 census ?
829 persons per square km
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90.

T TR 3 hrere forshre 31 Sermefear Haer g sheret ferehre e (Tearstars) s s fies sega fmfufad
TE R ?

14-35 9 <A 37TY 0 ok AT JaATAT ht AT HET

Which of the following is the primary objective of the Skill Development Initiative (SDI) by the Ministry
of Skill Development and Entrepreneurship, Government of India ?

To train eligible youth in the age group of 14-35 years

91,

SR T T 2018 3 SEr St vewr 1 v o 1 el % fer siftreraw froft afsad! Suemu?
TR W H AT VYT AT ok fore 1 ity B o -fevers wife fei o6 ferw 2 FAS T

What is the maximum subsidy available for films shot in Uttar Pradesh as per thc Uttar Pradesh Film Policy
2018 ?

INR 1 crore for half of the shooting days and INR 2 crore for two-thirds of the shootmg days in Uttar
Pradesh

92.

oy o R aeersiler S1erCoer B av2rsller Eiteror SAfiferd 26 cred Sl ST B foha T o 2
1972

In which year was Kishanpur Wildlife Sanctuary declared a wildlife sancfuary under the Wildlife Protection
Act? '

1972

93.

I AT T - T TS qUEree § NH- 9%531&&1?15(3@53’(?17% ST, S, TS U Bl TSl 8
ST 2P W NH- 44%meéﬁm%?

TATA-509

Which National Highway in Uttar Pradesh starts from its jucntion with NH-9 at Moradabad, passes through
Chandausi, Babrala, Aligarh and terminates at its junction with NH-44 at Agra ?
NH-509

94.

ﬁmﬁrﬁaﬂﬁﬁ?ﬂmmEﬂmrﬁﬁn@wﬁmuﬁmﬁﬂﬁwaﬂmmﬁﬁaﬁ%wﬁ@m?ﬂﬂr%wﬁ
mﬁ%mwaﬁtwﬁww%?
ot

Which of the folloéving folk song is predominantly sung and performed by women in Uttar Pradesh to
celebrate the birth of a child as an auspicious moment in the family ?

Sohar

9s.

mﬁﬂ%m%wwﬁmﬁméﬁaﬁmﬁmmaﬁwﬁéwmmw%?
ﬁﬁrmaﬁﬁrﬁw%\amwﬁmawﬁw

What_ is the primary focus of the Bateshwar Mela, an annual festival held in November near Agra, Uttar
Pradesh ?

Cattle fair with livestock for sale or barter
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Y6.

fig e sFeat % TR, “PRS” T WHaR: “HT Ty 8 T T 8, St Srgil o aregehTC HrE 6 dur
Hafia aar & | W o, Hered i feare e &ttt § 3 fru st agemar e
T

According to Hindu mythology, the name “Meerut” is likely derived from “Maya Rashtra”, which refers to
the country of Maya, the architect of the asuras. Maya’s daughter, Mandodari, was married to which of the
following figures from the Ramayana ?

Ravana

7.

I R o wferayy fSted 7 R Hrardietr sitg fope et qT s e 2
EREIRC]

The Matatila Dam, located in the Lalitpur district of Uttar Pradesh, is bu11t across whmh river ?
Betwa River

98.

el &9 Y Fforr, 39 Hew % @ Al mﬂwemﬂfmﬁm EEE @(%ﬂ sdtﬂ%ﬂﬁ%ﬂtﬂ?ﬂﬁﬁﬁaﬁ%
TR (1955 — 56) F w5 g 2

AT FITTOTES UTET

Shri Chandra Sheckhar, originally from Ballia, Uttar Pradesh, served as General Secretary
(1955 — 56) of which political party in Uttar Pradesh before becoming its national leader ?

Praja Socialist Party

99.

USRI ol of & A1 2 2

IO QT ATHOT TSR foreRTe UStE

What is the full form of UPRRDA. ? -
Uttar Pradesh Rural Roads Dévélopmént Agency.

100.

mmqamﬁmméa(ﬁmcwﬁrww UNDP/UNIDO 3 3T ST GCHI 1 werm & forer o <61 g off 2
Jujerd § & g TEl

The Fragrance ancl Flavour Development Centre (FFDC) was established in which year with the assistance
of UNDP/UNIDO and the Govemment of Uttar Pradesh ?

None of the abnve

PU6

BB\ . (’(_/ MASTER SET




